i ify.) If they are band limited, specify their Nyquist rate.
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(15 pts) 2. Using the definition of the z-transform (ie. do not simply take
the answer from the table), obtain the z-transform (with s ROC) of

zn] = 3"u-n - 1]

Y ()= ‘é £32"

g Il T ]
- ‘é 3"

LT



(20 pts) 3. The Laplace transform of the unit impulse response of a system
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4. The block diagram below shows a sysiem consisting of a contimeus-time
LTl system followed by a sampler, conversion to o seguence, and an LTI
discrete-time system. The continuous-time LTT svstem is causal and satisfies
the linear, constant-coethicient ditfferential equation
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(15 pts) b) Determine the frequency response H(e'~) and the unit il
response hin] such that win| = &[n].
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